
www.evotech-performance.com

Installation Instructions
Triumph Trident Chain Guard



Installation Instructions

Kit Contents   PRN015449

1 x Chain Guard A

1 x Swingarm Thread Bush  B

1 x Swingarm BushC

1 x M5 Washer D

1 x M5 x 16mm Button Head Bolts E

1 x M5 Washer F

1 x M8 x 20mm Button Head Bolts  G



Installation Instructions 1

B



Installation Instructions 2

C



Installation Instructions 3



Installation Instructions 4

E

D



Installation Instructions 5

G



www.evotech-performance.com


